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| PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes !
each sentence. Then mark the correct choice on your answer sheet. |

1-  She emanated worldliness and the selfishness of one who is ........... to everything but her
own needs and caprices.

1) visible 2) compensatory 3) available 4) indifferent
2-  Concrete blocks were piled high to .......... the government center.
1) fortify 2) reveal 3) circulate 4) overlap
3-  All sound has three .........: pitch, volume, and duration.
1) impacts 2) merits 3) properties 4) realms
4-  One of Britain’s most .......... criminals has escaped from prison.
1) meritorious 2) notorious 3) indigenous 4) industrious
5- By the 1930s the wristwatch had almost completely .......... the pocket watch.
1) devised 2) thwarted 3) supplanted 4) founded
6-  She cared for her stepmother with unfailing .......... throughout her long illness.
1) devotion 2) conformity 3) defect 4) prevalence
7-  Ryan needed ........... agreement to bring his proposal up for a vote.
1) contentious 2) adjacent 3) deliberate 4) unanimous
8- With so much water having ......... its exterior, the engine was effectively ruined.
1) varnished 2) penetrated 3) inhabited 4) exceeded
9-  Considering the ........... of his injuries, he’s lucky to be alive.
1) hurdle 2) divergence 3) extent 4) symptom
10- They intend to keep their force there in the region to ......... compliance with the treaty.
1) verity 2) recollect 3) seize 4) conquer

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or I
(4) best fits each space. Then mark the correct choice on your answer sheet. '

The extensive fossil record of genera and species is testimony that dinosaurs were diverse
animals, (11) ........ lifestyles and adaptations. Their remains (12) ......... in sedimentary rock
layers (strata) dating to the Late Triassic Period (227 million to 206 million years ago). The
abundance of their fossilized bones is substantive proof (13) ......... dinosaurs were the
dominant form of terrestrial animal life during the Mesozoic Era (248 million to 65 million
years ago). It is likely that the known remains (14) .......... a very small fraction (probably less
than 0.0001 percent) of all the individual dinosaurs (15} ...........

I1- 1) and widely various 2) with widely varying

3) with wide varieties 4) and varying with wide
12- 1) found 2) that are found 3) are found 4) have found
13- 1) whether 2)if 3) when 4) that
14- 1) representing 2) representative of  3) a representation of  4) represent
15- 1) were living once 2) that once lived

3) that lived once 4) once that they lived
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I[PART C: eadingCuesiﬂn

Directions: Read the following two passages and choose the best choice (1), (2), (3),
or(4). Then mark it on answer sheet.

PASSAEG 1:

Please mark the best choice based on the following paragraph:

An object is a self-comtained package of information describing the characteristics and
capabilities of an entity under study. In a geographic object data model the real world is
modeled as a collection of objects und the relationships between the objects. Each entity in the
real world to be included in the GIS is an ohject. A collection of objects of the same type is
called a class. In acwal fact classes are a more central concept than objects from
implementation point of view. A class can be thought of as a template for objects. When
creating an object data model the data model designer specifies classes and the relationship
between classes. Only when the data model is used to crate a database are objects actually
created.

Objects are created when —-—-——-- :

1} Real world is modeled and its relationship with other objects are studied
2) An entity is under study and describes its characteristics and capabilities
3) Database is created using the data model

4) Classes are specified in the real world

An object --—---—----- .

1} Models the whole real world in a GIS

2) Has every necessary information to specify an entity

3) Always specifies its relationship with other objects

4) Is a template for a class which is specified by data model designer
Geographic object data mode] -—--—--,

1} Is a package of information which classities the objects and entities

2) Uses objects and their relationships to model real world

3) Is the only tool by which one can implement GIS

4) Is a template to create a database

In order to implement an object-oriented GIS one should mainly focus on
1) Objects 2) Model 33 Entities 4) Classes
Object-oriented GIS uses ——-—--—-—--- -- to model the real world.

1) Objects and the relationship between them

2y Any actual fact which can be included in GIS

3) Entities, classes and central concept of templates

4) Classes and database from implementation point of view
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PASSAGE 2:

Please mark the best choice based on the following paragraph:

In a variety of tasks, it is advantageous to work with a model of gravity field. The degree to
which this model field should approximate the actual gravity field depends on the task for
which it serves. The simplest model is the radial field. This can be thought of as being
generated by either a particle of a negligible size and mass comparable to that of the earth, or
by a sphere with stratified distribution of masses which would, of course, produce an identical
model field outside the sphere. The potential of such a field is a function only of the distance
from centre of the field. Its equipotential surfaces are concentric, spherical surfaces. This
model has already been used to determine an approximate value for the vertical gradient. of
gravity It is also used extensively when working with satellites.

Gravity field model is used ---—-——-- -

1) Only with satellite orbits 2) With different degree of approximation

3) Only to estimate vertical gradient 4) With a particle of a negligible size and mass
The complexity of a gravity field model depends on ---————- -

1) Its application

2) The shape of its equipotential surfaces

3) How extensive it is used with satellites

4) The size and mass of the particle used to generate it

A radial gravity field is generated by --------—-— ]

1} A particle of tiny size and mass

2) A particle of a significant size and mass

3) A sphere with uneven distribution of masses

4) A sphere with identical model filed outside the sphere

The potential of a gravity field model is a function of only the distance from the centre of
the field when -—----———- :

1) It has an uneven distribution of mass similar to that of the earth

2) It is complex enough to approximate the actual gravity field

3) It is generated by a sphere with predefined size and mass

4) It is radial

The gravity field model -------—-,

1) Used for satellites is always a simple one

2) Comes with different degree of complexity

3) Always generates spherical equipotential surfaces

4) Is always generated by a sphere with stratified distribution of masses

Choose the best answer:

The Global Positioning System is a space-based global navigation satellite system that
provides location and time information in all weather, anywhere on or near the Earth,
where there is an unobstructed line of sight to four or more GPS satellites. A synonym for
unobstructed is:

1) Inadequate 2) Restricted 3) Limited 4) Clear

The radiometric resolution of a remote sensing system is the number of different
intensities of radiation that the sensor is able to distinguish. Which of the following
choices is an antonym for distinguish?

1) Discriminate 2} Differentiate 3) Tell apart 4) Mystify
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28- In the simplest term GIS is the merging of cartography, statistical analysis and database
technology. This means that GIS is:
1) An expulsion of cartography, statistical analysis and database technology
2) A simple cartography tool for statistical analysis using database technology
3) An integration of cartography. statistical analysis and database technology
4) A term to combine cartography with statistical analysis and database technology
29- The INS is initially provided with its position and velocity from another source, and
thereafter computes its own updated position and velocity by integrating information
received from the motion sensors. In other words:
1) INS computes its own initial position and velocity
2) One should give INS an initial position and velocity
3) Motion sensors provide INS the initial position and velocity
4) INS doesn’t need other sources of information for determining position and velocity.
30- In contrast to a Digital Surface Model (DSM), the Digital Terrain Model (DTM)
represents the bare ground surface. In other words:
1) DSM represents the bare ground surface of the earth
2) DSM represents only the earth’s surface without objects on it
3) DSM represents the earth’s surface and includes all objects on it
4) DSM is same as DSM and includes all the objects on the earth
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